
. y/V'Z - 17.

- Vad + Vdc

i^ + y). II. 1.

7\/l5
'' -T5—

(rt — VxY
„ •

fr — X

- ^ {^ + y)

-y

5- V«*.

G. 5. a + L

. 28, 36.

ANSWERS. 460

12. w =:y
rtc — ac

\/ itb' - ah
X =v.

h'c — /yc'

ah' — «^* 13. 10, U.

14.

(W + ?i2y^

J 5- tVA

195. I. r>; -10, - 2
y = ± S. 4. y = a±b.2. V =

5. a: = — fl or — 5, 7. a: = «(l ± V^).

8. y .(- 1 ± Vi2'.)). 9- y

10. a; ±V!
2

I. ± 21, ± 27. 2. 4 and 10.

3" ±1:. 4. 'JG, 34. 5. 10, 15,30.
6. 0, 10, 14, 18, or -18, -14, -10. -
7. 35. 8. 21 turkeys, 25 chicken

G.

9. 12. 10. 10.

19G,

203.

I. 250. 12. 3. 13. Length, 45; hreadth, 3

14. ^^(V-im^ + «2 + rt) and ^(Vi^^^T"^"^ - «).

15. 72 or 108.

1.81. 2.121. 3.225. 4.289. 5. 25G. 6. V3±3V6.

v. ;(:±ViH>..©'.i. ,y(„.+i)-.
a^

I. a; = «
2. ri'

5. a; ~ 1. 6. a; =:

8. a: = 5 or
9

— a. 3. a; = 13.

— 1 ± VlG(<Tq~f

8

4. 2: 50.

7- .^ = 16.

9. X = cfi — b'^± bVb^ - a\

10. .-c — 4. n. a; = « or
rt

303. I. X or 5.
10

// = -- or 2.

2. a; = — 4 or + 13, «/ = or — 17.

3- ^ = -3- ±^ V^863; y = ^(l ip V^63).
4. a: = 11 or - 7f|, ^ = 15 or - 17M.
e 'Y 01 ^« ,< . ,. r.lD „.. .» ^ **

5. a: = — 21 or 4 28 or 3.

304. I. a:=1.37... or — 0.15G...; .y=:— 4.46... or -6.09G.

y or — 4 : X =
12

14
or .

S. X = 2 or 6; y = 6 or 3.


